PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016

26th July 2016, 09:00 AM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

If the figure on left is folded to form a cube, then which of the following options is the face opposite to the face shown at the
right? / afe IRYY 3R WX 3rpfa & ¥4 F T 1 F e wis frarwrar &, @ Ao R A3 w9 3
fawen o wae il @R U T vas & fawdla 32

Correct Answer - =

2)

Question Stimulus :-

From amongst six boys A,B,C,D,E and F and five gil_‘ls P,Q,R,S and T,‘a team of six is to bew
selected under the following conditions : / ©: S®! A,B,C,D,E 3R F§ ¥ 3R P,Q,R,S 3R T U™
asfral § ¥, ©: 4 @t 9 &1 Y wrdf W) 9= fear S 8

A and D have to be together / A 3R DAY H T/ Gy

B can’t be teamed with E / B ¢ # E & T1Y 98] 81 &l

C and Q have to be together / C 3R Q |y # g =IfleT

D can’t go with P / P & {14 D Fg! off I&dl
2)



e Ccan’t go with S / S & TIY C &l Il APl
« B and R have to be together / B 3fR R 1Y # g1 =1f3¢

« S and T have to be together / S 3R T I14 # g A1iRY

If four members including E have to be boys, the members other than E are: / SR E Ca

fraTH: IR 9o aS% §,dl E & AR 3 S gl
e ABCQR
e ACDFQ
* ADFST
e BCFQR
Correct Answer :-ADFST
3)

Question Stimulus :-

Under the Income tax Act, 1961, a ‘very senior citizen’ has been defined as an individual who attains the age of
years at any time during a financial year./ SITI$HI Sfufraw 1961 & ded, TP dgd &t oy AR &
I e & =0 o uRuTira forar a1 & it v foxfta af & g fdt oft 5w af &Y Mg BT 3

* 80

® 85

® 75

® 70
Correct Answer :-80
4)

Question Stimulus :-

How many times ‘E’ exceeds 'S’ in the word ‘PEEVISHNESS’? / ‘PEEVISHNESS’ Reg H E’
faa I s’ 9 f¥® 72

@)



e 0
Correct Answer :-0
5)

Question Stimulus :-

If nuclear weapon means hallucinations, and it’s not hallucinating, then it’'s not nuclear

weapon. / I TR} AR &1 7aad Afayd g, 3R I8 afayw 781 &, @t 98 wRum] sRAR T8t 81
® True / Tgl
® False / TTald
e Maybe / B G&dl 8
e Irrelevant / 3MRif&
Correct Answer :-True / 98!
6)
Question Stimulus :-

Which is the 51%¢ District of Madhya Pradesh? / HE USRI BT SHATA-AT FoTdT 1= IT 82

. Khargone/@?"ﬁq
. Alirajpur/aﬁnw

® Harda /Geal

® Agar Malwa / TR HTedl
Correct Answer :-Agar Malwa / 3[R HIeIdl
7)

Question Stimulus :-

A, B, C, D, E and F are cousins, No two cousins are of the same age, but all have birthdays
on the same date. The youngest is 17 years old and the oldest E is 22. F is somewhere
between B and D in age. A is older than B. Cis olderthan D. / A, B, C, D, E 3R F TR 'HT'Q‘%,
B N & TR HIEH P A TP GHE TR ¢, g IR F T RT A aRE e f eI SR Namg 17 af g
AR TS E B Y 221 FHI MY B R D FATEI A, BIATST3I C, DI T3

Which of the following could be the ages of D and C respectively, if B is 17 years old? / IEE]
# D 3R C F AT FT Y TFdl §, 3R B 17 T HT 82

(4)



e 18 and 19

e 19 and 21

e 18 and 20

e 18 and 21
Correct Answer :-19 and 21
8)
Question Stimulus :-

Who was the president of the Constituent Assembly of India? / HIRd P Afae g1 & Sreme B A2
* Dr.B.R.Ambedkar / ST I 3R SFETHY
® Jawaharlal Nehru / SIdlgX dld ﬁg'\!a
* Dr.S.Radhakrishnan / 81. TH.ITUTH O
® Dr.Rajendra Prasad / 1. IToig YETG

Correct Answer :-Dr.Rajendra Prasad / 1. IMoi% UHTG

9)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowe

gHg, S ab sl B AT Re e sd7 & TwH 2 -

"It is not true that both roses are red and violets are blue." / "98 ¥ &l & & ! o @@ &
3R g TwRm e g1t

* Roses aren't red or violets aren't blue. / TATd AT T8l & AT TTHRN I T8 &1

® Roses are red and violets aren't blue. /Ww%ﬁmﬁﬂﬁ%l

® Roses are red or violets aren't blue. /Wm%mamn:ﬂﬁ Hﬁ%l

* Roses aren't red and violets aren't blue. / TATd ATA 781 & 3R ITHRT A1 T §

Correct Answer :-Roses aren't red or violets aren't blue. / TS 1A 81 € a1 BN 1 &1 &1

10)

Question Stimulus :-

(®)



Which is the first State to launch a diabetic registry? / Ug ¢l IJTsY mﬁ H?;[ﬁ? T%I'\‘?ff A= @t %?
® Kerala/ PId
e Goa/ Tl

® Tamil Nadu / ARG
L Maharashtra/'FIB'R'l'g

Correct Answer :-Goa / Tdl

11)
Question Stimulus :-
Five wrestlers A, B, C, D and E are weighed. E is between D and A who is the 34, Neither C nor D is the heaviest. Who is the

second heaviest? / 5 UgWdIHI A,B,C,D T4 E &1 a9 fa1 ST 8| E, D T4 A & &9 € St f iR ®”I\ )
2] AT € € 3YaT D Fa ao @] TERT A ol B 82

Correct Answer :-C

12)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowe gﬁq
it fRE e wUAY ud fAshul & 9k § 9 2

Statements: / PY:

All desks are tables. / 9t 3% A9 gl

All tables are chairs. / I ¢9a ?ﬁ&ﬂ%l
Conclusions: / -

I. All desks are chairs. / I. I %% WT%I

II. Some chairs are desks. / II. $© $RIAT 3 gl

® Only conclusion I follows / Fad fAspY 1 adr 2

(6)



® Only conclusion Il follows / pad fAwpY 11 e @
® Both conclusion I and Il follows / I et 1 3R 11 Apaa %’
® None of the conclusion I or Il follows / Y I a1 1T & & aﬂ% TRl Frpadar g

Correct Answer :-Both conclusion I and Il follows / 9l frpd I 3R II Frad %

13)

Question Stimulus :-

The chief minister of a state in India is appointed by/ I f&sft Wi I &1 'ﬂ'@'q_?ﬂ ﬁ'ﬂﬁm gl
® President / SITE&
® Governor / XTSIUTe
® Speaker / dKIT
® Vice president / SUT&
Correct Answer :-Governor / ITsq4rd
14)

Question Stimulus :-

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /

Fafafad vy o e arde wu # =] B a1 B R ITF 918 Y T T e d § ge Suge
P Y BT AT P

1. Post box 2. Letter 3. Envelope 4. Delivery 5. Clearance

1. -5 2. A 3. ferwreT 4. fqazor 5. et
e 2,3,1,4,5
e 3,2,1,4,5
e 3,2,1,5,4
e 3,2,4,51
Correct Answer :-3,2,1,5,4

15)

Question Stimulus :-

(7)



A manufacturer has 3 products in his portfolio- A, B, C. They are manufactured in batches,
as the cost of changing from one product to another is quite high. A can be produced at a
rate of 1000 units per month, B at a rate of 800 per month and C at 700 per month. Once a
product is taken up for manufacturing it will be continued for at least 2 months and a
product is manufactured only once (one batch) in a year. At a time only one product can be
manufactured. Products have to be manufactured before their respective demand season
starts. Product A demand always happens between January and May, B between April and
September and C between August and January. / U@ Rafar #l o g A 3 3@ @ - A, B, CI
3 o ¥ fAfifa g €, TP e S &1 g W 9ead &1 AT S1w! ifiS 81 A &7 Ul 718 1000 IHEAT
Bt R W ST AT I GFHaT &, B BT 800 Fi X I 3R C HT 700 IHIIA BI X A IS fohaT o Tl
21 TP 9R TH IcUIg HT A0 I 31 & 91 I8 $9 A 30 2 U & T I a1 S $iR U Sdig &t
P9d TP 9R (TP SX) TP e A [Hifa forar S v 9wg # Saa ve Iare Hifdfa fear s g g1
IdIE! B 3! Y AFT I yga FAffa far s giar 81 S A &1 G g T4} 3R HS & i gidl
2, B 31 4Tt e 3R Riderk & i ik ¢ 3 7t 3Ra 8k 9as & o9 gl 7

If a month of idle time is required between producing C and A, when should C be started
manufacturing if demand for C in a year is 2000? / ¢ C 3R A & IUE P o9 TP HH &
fora wag ot smaxawar 8, ¢ 31 fafwuior w9 3= g1 =ifke afe ¢ &Y wivt ad & 2000 22

* April / 3%
* May/¥S

® June /T
 July /g

Correct Answer :-May/Hs

16)

Question Stimulus :-

Who is the first Indian lady to win a Grand Slam tennis tournament? / 13'5' g Eﬁ? SHia areft q??ﬁ
YR Afgan i 82

® Saina Nehwal / TSl ﬁs'aTE—r
® Shikha Uberoi / TR1@ET ffeRTa
e Koneru Humpy / P gt
e Sania Mirza / grfear ﬁlﬁf
Correct Answer :-Sania Mirza / 91T firet

17)

Question Stimulus :-

(8)



Select the option, which is the logical equivalent of the statement given below: / d8 fowea

g, Siah s TR R HsH F 9= 2
If it is 1st of January, then it is party time. / Tf¢ g Ugdl SHa3 g, df U8 UK &1 99T g1

e Ifitis not 1st of January, then it is not party time. / af¢ I8 Ugdl S-a3 81 €, df I8 UIc! &1
g T8 81

e If it party time, then it is 1st of January. / e I8 UISf FTHHT 8, < U Ugell St &l

e Ifitis not party time, then it is not 1st of January. /tr%ugmﬁmmqﬁ%, ﬁruguet«ﬁ
SR el B

e Ifitis 31st of December, then it is not party time. / If¢ ¥g 31 fAR g, ql g Ul &1 I7g 181

gl

Correct Answer :-If it is not party time, then it is not 1st of January. / 9f¢ 9g Urdl &1 9wy TET

2, A 9% ugel sad AE 81

18)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg foweu

gRe,st ad P e AR R Tt FyT F TUH T :

It is not true that both David and Shaman are Captains. / I8 9d 78l ¢ f& sfas ok == gt
ksG]

®* David is a captain and Shaman is a captain. /%ﬁgwm eﬁvwwmﬂ%l
e David is a captain or Shaman is a captain. / 3f3€ T® WM g 91 W T FWH gl

® David is not a captain and Shaman is a captain. /@ﬁ%’@ﬁﬁﬂﬁ% eﬁiwww

gl
e None of the above / IR g 81

Correct Answer :-David is a captain or Shaman is a captain. / 3f3€ & $wH g 1 IHT TH
FHE B

19)
Question Stimulus :-

The river that is called “ Daughter of Lord Shiva” / dg T'|é"[ R «oprar R @5t Hﬁ’f” Dol SITdl %
® Son/ ?'-ﬁ:l'
® Narmada / qﬁﬂT

©)



® Ganga /AT

® Yamuna / 9g-AT

Correct Answer :-Narmada / THal

20)
Question Stimulus :-

Who was also known as “Rajaji”? / IS & A1F | WY foraet S s une
® C Rajgopalachari / It ISHTaTATERt
® Rajendra Prasad / WW
® S Radhakrishnan / T ITUTH T
e Rajiv Gandhi / ITSi1g T
Correct Answer :-C Rajgopalachari / It RERIEIGIEIEI]
21)

Question Stimulus :-

There are two words making the base pair. Find the similar pair of words from the

following / &I ¥/eg STYR gH 1 T@ 5| 9 H & GHM sl $T g 10 DIoR
Bunch : Key :: / T[@3T : 9Tl :2
® Hound : Pack / RI®RI P : FUS
® Bouquet : flower / G : ol
* Beehive : Bee / Tl : HYHTT!
® Examination : Subject / TRI& : fawg
Correct Answer :-Bouquet: flower / T[dgwl : d
22)

Question Stimulus :-

is popularly known as the 'Queen of Satpura'? / Pl AHUT "TAYST BT
I F =T A ST S 82

® Pachmarhi / tﬁlﬂ?ﬂ

(10)



® Hoshangabad / HERIEI

® Mahadeo hills / H‘s’l%ﬁwl%ﬁ

e Rajpipla Hills / IrSITqem ygTfsar
Correct Answer :-Pachmarhi / TIHel
23)

Question Stimulus :-

CAG, the full form of which is , audits all Receipts and expenditure of Government of India. / aﬂT, Cal

iEgg_ ot |t wiitaal ok URd IRPR &1 9 JA1fSe gl
® Computer and Audit General of India / W s TS SR 3T sﬁm
® Controller and Accounts General of India / H@FI'\" US ThIScH WRd 3w gfsar
® Comptroller and Auditor General of India / m ' 3fEeR T Rd AP E{%'QT

® Comptroller and Accounts General of India / a@'ﬂ? TS W SR 3T s'%m
Correct Answer :-Comptroller and Auditor General of India / W s TS TR 3P ?{%'qT
24)

Question Stimulus :-

Who proclaimed ‘Swaraj is my birthright and I shall have it’? / TS T RIS STUPR 3R | 3'@' NG
YT, IT SGaIvuT fpa @12

¢ JL Nehru /S T g%
e MG Ranade / Q¥ Sft 708
® Gopal Krishna Gokhale / TTUTd FST TRad
* BG Tilak / 1 5l foa®
Correct Answer :-BG Tilak / &1 S} faa®
25)

Question Stimulus :-

One of the nine jewels in Akbar’s court, Faizi, Wrote this book on mathematics / STPEX & AR FARA A Y

Tw, Bl A TG W 98 gE fordt M

¢ Tiloyapannati / dreraut=r
(11)



® Lilavati / RIGIEIG

¢ Shunyasiddhanta / QEQ'&I@'IT‘T
® Patiganita / LIGRIUGH
Correct Answer :-Lilavati / Siardid
26)
Question Stimulus :-
When did India have its first General Elections? / & HIRd = 30T Yodl 3H ﬂqﬁﬁﬂﬂ 1?
® 1947
® 1949
® 1950
* 1951
Correct Answer :-1951

27)

Question Stimulus :-

INS Vikramaditya and INS Viraat are / GI'I'&"Q?Q'\‘I' ﬁa»*m%w 3R \"rﬂg'Q:I'Q'\q forTe
® Replenishment Ships/ ﬁm CEE)

® Submarines/ W@"ﬁ
® Aircraft Carriers/ dTgdT digh ud

® Patrol Vessels/ Tl CEHE

Correct Answer :-Aircraft Carriers/ IIJAT T6® Ui

28)
Question Stimulus :-

Directions: On the shelf are placed six volumes side by side labeled A,B,C,D,E and F. Three
volumes C, B and E have blue covers while the rest have red covers. D and F are new
volumes while the rest are old volumes. A, C and D are law reports while the rest are

gazetteers. / 2 fdl Ao WR B U4l B A,B,C,D,E 3R F & 3ifhd o7 T go¥ & URT W0 14T 2l
30 I dF Y ¢, B 3R E W a1 3MMaR0r § Safd AY W 1 SATGR0T 81 D 3R F A¢ Y §, i A9 A
g1 A, C 3R D FFA & fAarur €, o9 & Av =i §1

(12)



Which volume is new, red covered and a gazetteer? /3=n?r' S 91 UY YT, <ITel S{TdRUT dTedT 3R T
faa=foreT 32

Correct Answer :-F

29)
Question Stimulus :-
Who built the Alai Darwaza? / \'HFI'I'&; odrell fpaa g9armar U2
® Ghiyas-ud-din Balban / ﬁ'q'l'\ﬂ@q CGEIS]
* Md. Tughlaq / MTEHIE TUAD
® Sikander Lodi / ﬁ'-lw F'ﬁ'apf
e Ala-ud-din Khilji / 3@TSE F FRaaeil
Correct Answer :-Ala-ud-din Khilji / 3T@TSg 9 faareil
30)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowea ﬂﬁT{
i f3T e SUHY vd fAhul & 9 § 98 2

Statements: / PY:

Mango is sweet / 3MH HiaT &

All fruits are sweet / 9 Ba fIS @
Conclusions: / fAemd:

I. Mango is a fruit / I. 3lH T hd %

II. All sweets are fruits / II. 9 o=yl va &
® Only conclusion I follows / $ad fepY I fedar &
® Only conclusion Il follows / Fad fAswy I Rwadr g

(13)



® Both conclusion | and Il follows/aq-'T fAwpd 1 GﬁT II Foad %’
e None of the conclusion I or II follows / s 1 a1 11 # & 315 g Fpaar g

Correct Answer :-None of the conclusion I or II follows / fsd 1 a1 11 # A HI5 8T
Feaar g

31)

Question Stimulus :-

A+B means A is the brother of B. / A+B WW% A, B &1 ?-l'l'a; %I
AxB means A is the father of B. / AxB &I Hdad @ A, B &1 far 81
A-B means A is the sister of B. / A-B T Hdad ¢ A, B @1 984 3|

Which of the following relation represents that S is the niece of T? / g o Q@ 19 91 9dy
Ui g i S, T FI Hdlsh 82

® TxP+5-Q

® TxS+P-Q

® T+PxS-Q

® Cannot predict / &ﬁﬂﬁﬂﬁwm

Correct Answer :-T+PxS-Q

32)
Question Stimulus :-

Find out the pair which is different from the other in the following question. / FE ¥y # a8
g [ PR S Ifal | ST 7|

e Elephants and Trumpet / gift 3iR fiemsn
* Horses and neigh / 912 3R fe=fgamn
e Camels and Roar / 37 3R GolSHI

e Dogs and bark / $ 3R HiwHT

Correct Answer :-Camels and Roar / 3¢ 3R ggIe-T

33)

Question Stimulus :-

(14)



The first time India won the cricket world cup was in / tlw—cﬂ? HRd %Wﬁe{mw a9 | ST o
® 2011
® 2007
® 1983

® 1975

Correct Answer :-1983

34)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fowea ﬂﬁt{
<t fRE v Syl vd el & aR § 9t 21

Statements: / ®YH:

Some boats are ships / $9 ATd WET &

No ship is a submarine / ﬁé Wﬁgﬁﬂﬁ%
Conclusions: / frea:

I. Some boats are submarines / I. $9 EIC] W@Eﬂ %
II1. All boats are submarines / II. W A1 ‘F@@%

® Only conclusion | follows / Fad w1 e 8

® Only conclusion Il follows / ad APy 1| e adr @

® Both conclusion I and Il follows / G} fsd I 3iR II Fwad §

* None of the conclusion I or II follows / frsd 1 @111 ¥ A H)5 8 Frpaar

Correct Answer :-None of the conclusion I or II follows / sy I a1 11 # 4 1§ &1
Aeaar g

35)
Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the

third term. / 79 79 &, 1gd 1 u6l & I o<l voR 4 F1E Hay 8] Ao el d 9 5w e g
et R ue & Iy I UHR &1 J6Y B

JLN : SQO :: PRT : ?
(15)



°* UYW
e UTV
* YWU
® VUT
Correct Answer :-Ywu
36)

Question Stimulus :-

Hari is two months younger to Sita while Babu is three months younger to Anita. When
Sheela was born Babu was two months old. Anita belongs to the age group of five, while
Hari belongs to the age group of six. Who among the following is the oldest? /g% dlar 9 &t
T Bler § Wafe a1g sifvar @ &9 ud Sier 31 99 2fier &1 o= §8iT T 99 919, &) HeA &7 4TI 3ar urg
94 & IU g & SAWId 3Tl 8, TaP 83 T8 94 & 39 IHg & Siarid el g1 9 & & g g81 9 @2

® Babu /dIq
* Sita /3T
* Anita /3T
® Sheela /3fdr

Correct Answer :-Sita /3ld1

37)
Question Stimulus :-

The Chambal river drains into the . A TGl ¥ iR %l
® Betwa / Sadr
e Ken / CiT|
® Yamuna / 9Y-T
® Godavari / Tﬁ?ﬁ'\ﬁ

Correct Answer :-Yamuna / Y-l

38)

Question Stimulus :-

(16)



Medical tourism refers to travel of people to another country for _/ﬁl'mtﬂ Teq '\‘lﬁﬁ-ﬁf CXGI %ﬁv_\‘ﬁ W
= T B AT PR ¥ ferul

® Learning about medical treatment from that country / 3 I 9 Fafrs SR & IR § A
® Teaching about medical treatment in that country / 39 1 ¥ Fafrer STaR & I § fRigor

® Providing medical treatment in that country / 3 321 # Fafrer SuarR Iuasy HRE

® Obtaining medical treatment from that country / 3H %5{[ Y fefereaT SR Wit 31 &

Correct Answer :-Obtaining medical treatment from that country / 39 X1 & RSP STIR U #34 &

39)
Question Stimulus :-

Omkareshwar is a sacred island onthe ______river. / Gﬁ?ﬁﬁ’ﬂ'\" :r(ﬁ W TDH i ﬁ'q %l
® Narmada/ T'I'J:GIET
® Gomathi/ M
® Tapti/ aret
® Omkareshwar / GﬁWﬁ"H’\"

Correct Answer :-Narmada / THal

40)
Question Stimulus :-

Who signs the Bharat Ratna certificate? / HIRd Yd YHIUT G TR ®I THIEN DIl %?

® Prime Minister / T W3t

® President / Tl'g‘Tﬁf
e Noone / Tﬁ'&c :Iﬁ
® Chief Justice of India / HIRd & BT TATRT

Correct Answer :-President / ITgUfd

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

(17)



A man traveled a distance of 61 km in 9 hours. He traveled partly on bicycle at 9 km / hr and on foot at 4 km/hr. The distance

traveled on bicycle is/ T® 3TGHI 9 °S H 61 ﬁnﬂaﬁgﬁatrmél PO UFT 9 Tty b¢ &1 i I wgfra )
Tadl g 3R a1l Bt 4 5y 6 3 1fa A Uea gaar g1 asfera I o ot i g ghit

* 16 km/ 16 f&Tit

o 25km/ 25 fHadt

e 45 km/ 45 f&t

* 50 km/ 50 faseit
Correct Answer :-45 km/ 45 f&H
2)

Question Stimulus :-

If R318 x 532 =229T3T6 Where R, S and T, are representing different numerals. What is the value of ‘T’? / gfe
R318 x 532 = 229T3T6 Wgi R, s 3R T fafkry d&iss §, &) ‘T &1 694 &1 8N?

Correct Answer :-7

3)
Question Stimulus :-
In a certain code language, lee levi pepe means all wear denim, pepe uno sf means wear only pants, uno lee killer means
all pants tear. Which is the word for levi in that code language? / frlY @ s ww ﬁ, lee levi pepe BT Hdcld %
all wear denim, pepe uno sf T Hddd % wear only pants, uno lee killer T Hddd % all pants tear | I Pl yNT H
levi & foTT =0T Weg B2

® wear

® denim

® pant

* qll

Correct Answer :-denim

(18)



4)

Question Stimulus :-

| =

A man can reach a certain distance in 15 hours. If he reduces his speed by .
he goes 12 km less in that time. Find his speed?/ T& 3cHt 15 4¢ ¥ ts Fida &t a0 &

1

ol g1 afe 98 3= fa &1 5 BRI °UCTdl 8, df 98 Sa- &l IHa & 12 i &0 gt 99 &3ar g1 Sqa!
a1 B2

e akm/ hr/ 4 Tedlser

e 3km/hr/3 fpHi/der

* 5km/hr/5fdlsEer

* 6km/hr/6TrHl/der
Correct Answer :-4 km / hr / 4 fH/ger
5)
Question Stimulus :-

CANCELLED

The average of first 25 even natural numbers is? / Ugdl 25 WG Tde T HT 3fiTd 82
e 24
® 28
e 22
® 26
Correct Answer :-24
6)
Question Stimulus :-

Complete the series choosing the missing nhumber: / ﬁﬁlﬂ LiECs| AP Radr Bl T

BIIT :

3,8,15,24,

(19)



° 30

® 35

® 40

° 32
Correct Answer :-35
7)
Question Stimulus :-

Complete the series choosing the missing letter/s: / faqwW (&R TIH &A1 B [
PIC : _abb _ _bb_a_ bbab _ba

® bababa

® bbabbb

® ababaa

® aaaabb
Correct Answer :-bbabbb
8)

Question Stimulus :-

Smitha, an oil merchant buys oil at Rs. 33 per litre & sells at Rs. 40.50 per litre, If she sells
225 litres of oil in a month. What is her total profit? / {81, T dd AURY, S 33 $Ud Ui diex
A Wledl @ 3R 40.50 T Ul 9=t B, 98 TH WA A 225 e 9d St 81 IQ T fba-r ary gam?

* Rs.1687.50 / $UY 1687.50

® Rs.1587.50 / $UY 1587.50

® Rs.1487.50 / $UY 1487.50

* Rs.1387.50 / UL 1387.50
Correct Answer :-Rs.1687.50 / $Ud 1687.50
9)

Question Stimulus :-

(20)



In the following qyestipn, one term in the number series is wrong. Find out the wrong
term. / 99 Uy ¥, 9@ 491 A TP UG TAd §| TAd UG I BIA|

0, 4,9,16,25

* 4

Correct Answer :-0

10)
Question Stimulus :-

In a certain code language, sem cax hun ley means she is eating mangoes, lop hun dec
means I like mangoes, kip sem cor ley means eating fruits is good. Which is the word for
she in that code language? / <t @9 @wis wmn ﬁ, sem cax hun ley &1 Hddd T she is eating
mangoes, lop hun dec &1 Hddd % I like mangoes, kip sem cor ley &1 Hddd % eating fruits is

good | S BIg HT H she & fore o1 31 82

® sem

® cax

® hun

® Jey
Correct Answer :-cax
11)

Question Stimulus :-

CANCELLED

Whgt is cost price, when selling price is 777.60 & gain is 8%? | FIT AT Y4 817, afe faw) Yo 777.60 3% @Y 8%
P13?

® Rs.261/ 0T 261
* Rs.361/¥UT 361
* Rs.461/¥UT 461

® Rs.561 /30U 561

(21)



Correct Answer :-Rs.261/ ¥UU 261

12)

Question Stimulus :-

A can do a work in 20 days. B is 25% more efficient than A. The number of days taken by B to do the same piece of
work is / A 5l &1 3 20 &A1 # & IFHa1 81 B, A A 25% T1ET YUl 81 IH! HTH B RT H3 | B §RI
QAT IHY & T

* 16

e 15

e 18

e 25
Correct Answer :-16
13)

Question Stimulus :-

In tossing of two coins, what is the probability of getting one head? / Eﬁﬁm&[ﬁlﬁ P \_rl'l'a%l 1 fRre o &t dHTEaT
FTE?

° 1/2
® 1/4
* 1/3
® None of these

Correct Answer :-1/2

14)

Question Stimulus :-

A line AB is of length 6cm.Another line CD is of length 15cm.What fraction is length of AB to that of CD?
/ TF 13- AB F1 AT 6 Ul ] TS godl A5 &1 a1 15 I 8] AB & @ET5 I CD &I awrs &1 fig
w1 8?2

| e

Lh | e

(22)



| o |

W | a

Correct Answer :-

15)
Question Stimulus :-

In the sequence shown below, which figure comes next? / HI9 fRER T H9 # SFTH! 3P

Dee e0e S0 ese
see ece see Soe
11 eed 21 e e
S W grit?
sos
*0 o
alar-
[ ]
e
T
208
[ ]
aee
°0e
o0
]
*8J
*0®
288
[ ]
s
*°ee
B0

Correct Answer :-

16)
Question Stimulus :-

If CLINIC is coded as ENKPKE, then how is DOCTOR coded? / If¢ CLINIC %1 ENKPKE ¥ ®ifed
foar wirar @, 9t DOCTOR &1 9 Sifed fbar rdr g2

(23)



* FQEUQT
® FREVRT
* FQEUQS
* FQEVQT
Correct Answer :-FQEVQT

17)
Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / =

ATHTd B T & o <gAaq @ | fha-t W Yarei @t smazaswar gril?

™

e 9
Correct Answer :-8
18)

Question Stimulus :-

The value of (x+4) & (x+5) / (x+4) 3R (x+5) HTUAF &
e x2 + 9x+20
e x2 +5x+420
e x2+x+20

(24)



* None of these / 39# ¥ &I gl

Correct Answer :-x2 + 9x+20

19)

Question Stimulus :-

Three candidates contested an election and received 1188, 7326 and 11,286 votes respectively. What percentage of total
votes did the winning candidate get?/ d1- SWIGaR T-1d ¥ WS U 3R 3¢ HH: 1188, 7326 3iX 11,286
dic UIw §UI Sl a1 SWiGaR &1 $d dlel &1 fha-T ufa=rd fire?

® 57%
® 60%
® 58%
® 55%
Correct Answer :-57%

20)

Question Stimulus :-

The price of a car is Rs 4,50,000. It was insured to 90% of its price. The car was damaged completely in an accident and the
insurance company paid 95% of the insurance. What was the difference between the price of the car and the amount

received in Rupees?/ T® B H1 BIAA 4,50,000 FUU §1 TG U HIId & 90% TF SHPHd & | TH goel
%mﬁ%ﬁﬁmzﬁ?ﬁ 3R S S A 91 BT 95% 3T 3Tl T A FR B Fia R U i
* 65,000
* 65,500
* 65,250
® 66,000
Correct Answer :-65,250
21)

Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination: / 1R &} ¥ J@ar Rl T T=ATSH BT AIHH WANT Bl 8| Ted Jae- Ugar=i|

(25)



(i) AX1235YQ5
(i) AX1235YQ5
(iii) AX1235YQ5

(iv) AX1253YQ5

® i

® ii

® jv
Correct Answer :-iv
22)

Question Stimulus :-

How many different five letter words can be formed using the letters of the word ‘PAPER’ if repetition is not allowed? / ?T%

TR a8l 8, 99 ‘PAPER’ Tsg & U&RT BT TANT B3 UTd 31&R F fhawt AT 2 o1 9&vd &2
e 43
° 120
* 60
° 24
Correct Answer :-60
23)

Question Stimulus :-

Divide 635 into two parts such'that they are in thg rgtio 2:3. Find the larger amount? / 635
P gl RN ¥ Ui 39 o R O &3 fb 3 2:3 & U § g1 9¢1 B J1d Piferg?

° 254
° 635

* 381

® None /?ﬁ'sc:l'tﬁ

(26)



Correct Answer :-381

24)
Question Stimulus :-

(72x2)/4-(460/20)x1+(45x2/90)+8/2=?
e 15
* 20
° 18
°* 22
Correct Answer :-18
25)

Question Stimulus :-

Complete the series choosing the missing letter/s: / faqw &R IHT 4T BT [
: aa_abbb _cccca_aa_bb _cc_c

® ababbc
® aabbbc
® abacbb
® aabcbb

Correct Answer :=-ababbc

26)
Question Stimulus :-

Complete the series choosing the missing number: / fagu W@ gAHR S99 B [

2,7,22, ,202
® 68
® 60

* 67

(27)



® 62

Correct Answer :-67

27)
Question Stimulus :-

Which two of the following four addresses are EXACTLY the same? / Faddsa I
TPHeH I 8?2

(i) ABB Flexible Automation GmbH
Griiner Weg 6
D-61169 Friedburg

GERMANY

(ii) ABB Flexible Automation GmbH
Griiner Weg 6
D-61169 Friedberg

GERMANY

(iii) ABB Flexible Automation GmbH
Griiner Weg 6
D-611169 Friedberg

GERMANY

(iv) ABB Flexible Automation GmbH
Griiner Weg 6

D-61169 Friedberg

GERMANY
® Jandlll
® |andIV

(28)



® Jlandlll

® Jland IV
Correct Answer :-lland IV
28)

Question Stimulus :-

If CALIBRE is coded as 9124356 then BRAZIL is coded as / Al CALIBRE T 9124356 & BISd [SdT SIIdl 8, @l BRAZIL
®I U Pifsd fear s

e 352741
e 315842
e 351742
e 351224
Correct Answer :-351742

29)
Question Stimulus :-

In tossing of two coins, what is the probability of getting two tails? /ﬁﬁW&‘l’ﬁﬂ% T \_rlﬁ%l 20T 3 B HHIGAT
FRITR?

° 1/4
° 1/3
°* 1/2
° 2/3
Correct Answer :-1/4
30)

Question Stimulus :-

In a certain code language, hi ta ko means rose is white, no hi tu means yellow and white, pu no ta means
sun is yellow. Which is the word for sun in that code language? / T3t W BV U H, hi ta ko F1 Adas §
rose is white, no hi tu %1 wdqad € yellow and white, pu no ta &1 9aad & sun is yellow | 3t BIS YT & sun &
ferg o =g &2

® hi

(29)



® fa
® Lo

.pu

Correct Answer :-pu

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

Soil conservation measures are mainly aimed at protecting / Jal &7 & AUl BT 3%'52?3[ Hd: Eﬂﬁ &
AT §

* Top soil / JUN Hal

® Sub soil / AdHal

® Loamy soil /gl:lﬂ' Hal

® Bed rock / 3MTYUR A
Correct Answer :-Top soil / SUR JaT
2)

Question Stimulus :-

CNG refers to /'\‘:ﬂ'l?ﬂTrﬂ BT I %’

® Compressed Nitrogen Gas | PUS qﬁ@“ﬁ' k|

¢ Compact Nitrogen Gas /ﬁtaaf HE@T!FI' I

® Compressed Natural Gas /Eb_Fa'\‘%' ﬁm 'ﬁ'\‘l’

® Compact Natural Gas / PIae ﬁgm I~
Correct Answer :-Compressed Natural Gas /mﬁw ﬁw k|
3)

Question Stimulus :-

When we grow plants in a pot, we usually put broken bricks or coarse sand as the bottom most layer. What may

bethereason?/ﬁﬁ%ﬂtﬁiﬁﬂﬁmﬁmaﬂasﬂWﬁ%mmwwmﬁﬁw
W ST &1 SHST FT BRI &) Tl 82

(30)



® [t provide space for soil organisms / 98 H{al ¥ Sfial & ﬁl"'{ ST WEH Bl %

® It drains out excess water and helps the roots to breath /9% Sifafvaa urit &t CIRES el % MR \_IIG}T @I
9 &1 # HeTudT &l 8

® It helps the root to grow faster / dg W‘K‘ﬁ CAGI ]| @ faefRra ﬁﬁ = HelddrT Bl %
® Help to fill the pot faster with less soil /‘TFlﬁ Bl P Hal » GIRT URT YA | L EEGI Bl %

Correct Answer :-It drains out excess water and helps the roots to breath /dg SffarfeT =t &1 CIRRS

Fl 3 SR TSI B |i™ A § HeTIar $dl §

4)
Question Stimulus :-

Sheela wanted to buy a gift made of animal fibre obtained without killing the animal. Which of the following would be

the right gift for her to buy? /Qﬂmwﬁww@ﬂwmﬁﬁﬁﬁlﬁmﬁﬁmwﬁm%ﬂ
q g9 T B A W @ BT SUSR AT S0 % T Iugad gim?

® Woolen shawl / Sl =T

* Ssilk scarf / YXAF THTH

® |eather Jacket/ 'il'l:l@i Pl Sidbe

® Fur cap /ﬁﬁ '\ﬁ I @
Correct Answer :-Woolen shawl / Sl RITdl
5)

Question Stimulus :-

Directions for the following four questions: Study the graph below and answer the
questions. (Consider approximate values for answers) / 919 3T T8 IR gl & forw fAd=n: <=
3T A TF &7 SreEET B 3R U BT IW <1 W P e srgHifa geul W AR B

(31)



30 5

25+
20 20

20 T - r - r ]
e " 18 181186 1815 15 OR=d Bansna
i 11 OAlmonds

1C
10

CostiMg

1580 1581 1582 1553 1584 1585

1.6 1
1.4 1

a2
L 1 1

Oz ight'Dozzn of benans

0.9 1
o054 0B

0.4 1
0.2 4
) .

&0 &1 82 B3 B4 3B

Weight(Ka)

Year

Find the difference in the cost of 1 kg of Almond & 1 dozen of Red Banana in the year 1995 in terms of Rupees? / 1995

H 1 fHUT S5 3R 1 i AT Hd P PIAAL P S BT =X UL b A A J1d B2
® 39
e 42

e 33
® None of the above /m 79 EFI'&‘ Hﬁ

Correct Answer :-3.3

6)
Question Stimulus :-

Directions for the following four questions: Study the graph below and answer the
questions. (Consider approximate values for answers) / Eic] ﬁq T IR Ul & ﬁﬂ:{ fAda: SR

3T T U BT T Y AR UL BT SW &1 SWI b T AT el W AR B3

(32)



30 5

25 —

20 20

20 T o EE= F=] E "y ]

e " 18 181186 1815 15 OR=d Bansna
i 11 OAlmonds

10 1

CostiMg

5 4

1580 1581 1582 1553 1584 1585

1.6 -
1.4 4
1.2

P pos ! 1
0.8

0.8 1 oWz ight'Dozzn of banans
064 06

0.4 4
0.2 1
o

&0 &1 82 B3 B4 3B

Weight(Ka)

Year

By seeing the above trend what will be the cost of Almonds in year 2000? / $UX & I DI aﬁﬂ' Y Y 2000 H

q1aTH 31 Bad e gtz

® 12 Rupees / 12 Y

¢ 21 Rupees / 21 g

e 22 Rupees / 22 ¥Ud

® Can't predict / JTd Tg1 PR TPpd
Correct Answer :-Can’t predict / JTd o1 B THd
7)

Question Stimulus :-
Which one of the following is not the function of blood? / ﬁl’H | ﬁ:[ T Uh I DI B qﬁ %?

® Blood distributes nutrients to the tissues / Y Sddl § UIuS dedl BT faaor Hedn %
® Supply oxygen to tissues and carry CO2 from tissues / SHadl & SR 3l GI'I'qfcf qYT Sddl A €02 BT

de-

® (Carries waste products to different parts of the body for excretion / IS & ﬁt{ IR & fafys v 9
3UTRIE IeTEl BT I5

(33)



® Prevents the clotting when cut or wounded / ®C CIEK IR ﬁﬁ W YgHT g9 A AT

Correct Answer :-Prevents the clotting when cut or wounded / ®¢ CIE KRB ] fﬁ—;’f R YFPpT 949 I
AT

8)
Question Stimulus :-

The green leaves of the plant are the food factories. These contain a pigment which helps in capture of energy from

sunlight. It is called / Telf Bt g8 TRl @ SREM g1 A 9uid Ay Hdl & o g yo=r | SFof &
TR0 & WeTadT 34 1 59 Pea §

® Photosynthesis / UBTRI TTAYOT

® Autosynthesis / ¥dd: AW

® Carbohydrate synthesis / mﬁ-‘@? AT
® Chlorophyll /Wf?ﬁ'UT

Correct Answer :-Chlorophyll / Guigf¥or

9)
Question Stimulus :-
sec 0 is undefined at / W sec 0 TR |
e 9 = 45°
e ) = 00
e 9 =90°
0 8= 45

Correct Answer :-0 = 90°

10)
Question Stimulus :-

Directions for the following four questions: Study the graph below and answer the
questions. (Consider approximate values for answers) / = R 10 IR ysi & forw Rdzr: =
3T T U6 BT ad FY SR Ul FT IR &1 FWI & e srgEia g W faur +¥)

(34)



30 5
25

20 20
15 1818 1845 15

14 OF=d Bansna

10 11 OAlmonds

15 ~

CostiMg

10 1

1580 1581 1582 1553 1584 1585

1.6 1 1.5

1.4 1

1.2 - _
085 | 1

0.8 1 oWz ight'Dozzn of banans
064 06

Weight(Ka)

&0 &1 82 B3 B4 3B

Year

Find out difference in the cost of 1 kg of Almonds and 1 dozen of Red Bananas in the Year 1992? / a'ﬁf 1992 ﬁ 1 ﬁ)”JIT

qIGTH 3R 1 GOl AT B DI D! &b d9id BT =R AT D2
® 0.84 Rupees /0.84 TUY
® 0.74 Rupees / 0.74 =0l
® 0.50 Rupees / 0.50 U4
® 0.62 Rupees /0.62 &UY

Correct Answer :-0.84 Rupees / 0.84 g

11)

Question Stimulus :-

(35)



e 3
Correct Answer :-3
12)

Question Stimulus :-

Kabaddi players rub their hands with the soil before the game starts to /ﬁ@ @'ﬁﬁﬁ d = B'Tﬁ & traﬁ ﬁl@
q 3 BT B WIS &, AT :

* Reduce friction / SYUT B! HH B P forQg
® Increase friction / THUT &Y FgH & foQ
® Increase friction & then reduce it / THUT &) g1 TG TP IT¢ IH HH B & g
® Hurt the opponent / Ufdgal ®I e Ugaq & forw
Correct Answer :-Increase friction / THUT &Y ge4 & fow

13)
Question Stimulus :-
Which process helps the plants to lose excess of water through stomata of leaves and also help in ascent of sap? / ﬁ:f
<t ufspar drell @t afvral & Yo g1 afafaa o1a gem # weraar Sed! ¢ 3R TURIgY | Hf weraen
el 87
® Translocation / TR
® Photosynthesis / UPIRT THeyur
® Absorption / S[AINYOT
® Transpiration /HT@?\"W{T-[
Correct Answer :-Transpiration / AT TSI
14)
Question Stimulus :-

In the given figure, OA and OB are opposite rays. If y = 489, find the value of x. / HRID]
3pfa & 0A 7 0B faudia fawol . o’ y = 48° 4t X &1 4 19 HAI

(36)



A~

e 42°
e 52°
® 142°
® 132°
Correct Answer :-132°

15)

Question Stimulus :-

Find the area of the sector of a circle with a radius 4 cm and of angle 309°. / P4 Tt &

PN gad 1300 F JdeX BT &HA [A DO

* 4.19 cm?/4.19 TH} 2

* 12,56 cm2/ 12,56 i 2
e 46.1cm?/46.1 9% 2
e 29.6cm?/29.6 9% 2
Correct Answer :-4.19 cm?/ 4.19 9} 2

16)

Question Stimulus :-

The water fit and healthy for drinking is / & fere g T4 W & g

® Marine water / '\‘l'ﬂ_sa oiel
® Fresh water / dIvIl oTd
® Distilled water / 3TId SI¢l

® Saline water / WIRT ST

Correct Answer :-Fresh water / dTSll STd

(37)



17)

Question Stimulus :-

In the given figure, AB is a chord of the circle with centre O. OL is the perpendicular _
drawn to AB. If OL =5 cm, OA = 13 cm, find the length of the chord AB. / & Tl Hfd H,
AB 33 gd B! oitaT § fSRT®T $% 0 81 AB TR % OL ST 471 21 afe oL=5 A}, 0A=13 It § &l oitar

AB & TS J1d S

: . I ‘ >
\\ﬂ____f,f

12 cm / 12 9HT
24 cm / 24 9
17 cm / 17 9#Ht

® 20cm/209#
Correct Answer :-24 ¢cm /24 941

18)

Question Stimulus :-

Which expands the most on heating? / TITcI aﬂﬁ L'C3 m 3fferes T 3’*3':[ Eﬁ?ﬂ %?
* Solids / 3N
® Liquids / &d
o Gases/ T
® AandB/ATdBEHI

Correct Answer :-Gases / T

19)
Question Stimulus :-

Wheels of a bicycle in motion is an example for / IfT Hd LY '\‘Tlfm G tr%ﬁ Udh Jglexul % EXCdH
® Circular motion / qﬁm T
e Periodic motion / 3TAdT el

(38)



e Random motion / ATEE® Tfa

® Rectilinear motion / W@'ﬂ T
Correct Answer :-Circular motion / g Tfd
20)

Question Stimulus :-

The ratio of third proportional to 12 and 30 and the mean proportional of 9and 25is: / 12 'Q_Q' 30 &% ﬁl’ﬁ[ T‘Fﬁ'q'

TUTIUIAE G4T 9 T 25 HT HATIUT BT TUTd 8

® 7:15

® 9:14
Correct Answer :-5:1
21)

Question Stimulus :-

Directions for the following four questions: Study the graph below and answer the
questions. (Consider approximate values for answers) / 71 3T T3 IR w4l & fog Rd=r: R
foT T UTE BT T B SR U BT IW S| SR & AT g ol W IR #¥1
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30 5
25
25+ -
20 20

20 1 18 1818 18,5 “Ths ]
14

10 11 OAlmonds

OF=d Bansna

15 ~

CostiMg

10 1

1580 1581 1582 1553 1584 1585

1.6 1 1.5

1.4 1
1.2 1

P pos ! 1

0.8
0.8 1 oWz ight'Dozzn of banans

o054 0B

0.4 4
0.2 1
o

&0 &1 82 B3 B4 3B

Weight(Ka)

Year

During the period 1990-93, find out the rise in cost of the Red Banana? / 1990-93 3y & ?aTF[ AT Fd Bl BHEd

7 g 9fs =t 79 Fifee:
® Increase by 25% / 25 UTa=Id & 9
® Increase by 33% / 33 UfaI=Id & g
® Increase by 20% / 20 U= @I g
® Can’t predict / JITd qﬁ BT gbd
Correct Answer :=increase by 20% / 20 Ufr=Id & 9

22)

Question Stimulus :-

.q—' 2x—4= ‘-‘—' Ay—d4=
Find the roots of the quadratic equation * ~ V2x-4=0 . / Teama wftewor © [2e-4=0 & Td

eI
o 2,242

242,-.2

(40)



o« 242

o 2,722

Correct Answer 2, -242

23)
Question Stimulus :-

PQRS is a rectangle with PQ =25 m and QR = 850 cm. Find the area of the rectangle. / PQRS U® 3TId %
TUT PQ = 25 WY, QR = 850 VHI §1 U BT &TH S [T HIfoIC|

e 212.5m?/212.5 Hex 2
e 21250 m? /21250 Hex 2
e 875m? /875w 2
e 1750 m? /1750 #Hiex 2
Correct Answer :-212.5 m?2/212.5 Hiex 2

24)

Question Stimulus :-
A T.V and a Radio were sold for Rs. 12000 each. The T. V was sold at a loss of 20% and
the radio at a gain of 20%. The entire transaction resulted in: / T® ¢elifdw U9 Us I3
U™P Bl 12000 FUT H ST TAT1 WA BT 20% THA TR T4 AT 20% T TR 99T 411 ¥ A
& URUIRGEY gam:

® |ossof Rs.1000 / 1000 =0 T Jh A

® gain of Rs. 2000 / 2000 ¥0 HT dTH

® gain of Rs. 1000 / 1000 ¥o BT dTH

® Joss of Rs. 2000 / 2000 ¥0 T Jh A

Correct Answer :-loss of Rs. 1000 / 1000 =0 &I JHA

25)
Question Stimulus :-

Aero planes & ships are designed streamlined .This is done to / ATgATA Td U & il YIRT Ra ﬁ'»\_’l'@:f R
CERSGRARGIRE R IRCIGH

(41)



® Maximize friction / THUT &Y fo\‘il'ﬁ'lﬂ@_d P & o
® Minimize friction & save energy / YT B ﬂ?l?ﬁ:ﬂ@_\'l' PR T4 Iof Bl g9 & g

® Reduce efficiency / G&IdT P PH PP ﬁl’Q’
® |ncrease energy consumption / JSIl & SUHRT &I aaﬁ G ﬁ‘I'LT,
Correct Answer :-Minimize friction & save energy / gfur Y W CaE| Tq 3ol &l gI1 & ﬁl’E’

26)

Question Stimulus :-

Directions for the following four questions: Study the graph below and answer the
questions. (Consider approximate values for answers) / 71 RT T IR uyi & forw Ad=n: R

U T UTE &7 SrEa B 3R U BT IW 1 IR P e g el R AR #¥

20 5
25
25 4 —
20 20
20 + & ampdag = ]
g s 1 18 1615 1815 13 — c——
a ’ 10 11 O4lmonds
L]
10 H
5 -
] T T T T T 1
1882 1551 1682 18653 1684 1585
“Ear
1.6 1 1.6
1.4 1
1.2 1
— 1 1
. 1 0.55
= 0.8
:E: 0.8 4 OWW=ight'Dozzn of banana
‘g 054 056
0.4
0.2 1
o T T T T T 1

Year

In 1993, how much less does one kg of Almond cost as against one dozen of Red banana in terms of Rupees? / 1993 s i

TP ol a1 &d &I a1 8 TP [HIT I B $ivd 0 & A # fora-it $9 4

® 1.00
* 1.25

® 0.75

(42)



® 0.80
Correct Answer :-1.00
27)

Question Stimulus :-

If a number is divisible by 5 and remainder is 4, then the last digit of the number is

5 / afe T IE 5 A fAHT g U4 4 29 g, a9 =1 7 SifaH i
I

4o0r9 / 43Ydr o

9

40r8 / 43Ydi 8
Correct Answer :=4o0r9 / 4 3Ydr 9
28)

Question Stimulus :-

Name the tissues which translocate the food from the leaves to the storage organs in plants / 3 &P hI ATH

a8y ot ufral @ Yo B Wl & Jug S 9% ugsrar @
Phloem/‘ih'q_d'l_b'

Xylem / SITSGH
Midrib / frsfa

® Stomata /Y
Correct Answer :-Phloem / TIYdTg
29)

Question Stimulus :-

In the electrolytic purification of copper, the positive terminal of the battery is connected to /?I'ia G ﬁgq'd 3qge-t

i §, 38 BT ¢S RIRT fHd Fo7 Tear @2
® athin plate of pure copper / [& qid & udell e 9
® a thick plate of pure copper / & e 91 At wWe d

(43)



® athick plate of impure copper / 3[& Tie H AN wie
® the vessel containing the electrolyte /ﬁgq?r\mraa gad COE K

Correct Answer :-a thick plate of impure copper / R[S T ot 7 we

30)
Question Stimulus :-
A child had left sandwich in her lunch box over a weekend & when she opened the box after two days, she found
whitish cottony growth on the surface of the bread .The change is due to the growth of / Th T= A Jqwrgid ¥ e
o giqq | dsfag ots fear ik o1d 39+ &l o a1 afed i, df 39+ T i 8 @1 9ds W awe
BhE 3T A B U8 ulads S9 faera & SR gen

® Bacteria /aﬂiﬁﬁ'ﬂﬂ

® Algae /"xﬁﬂ'l?f

® Fungi / hdd

® Protozoa/ wierwre

Correct Answer :-Fungi / Pd®

(44)



